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(=) (16%) The Min-Hsiung Company has two products. Product 1 is manufactured entirely in
department X.  Product 2 is manufactured entirely by department Y.  To produce these two products,
the Min-Hsiung Company has two support departments: A (a material-handling department) and B (a
power-generafing department),  An anatysis of the work done by departmenis A and B in a typical
period foliows:
© Used by

Supplied by A B X Y

A - 160 250 130

B 300 - 100 400
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The work done in department A is measured by the direct labor-hours of materials-handling time.

The work done in department B is mea-ured by the kilowatt-hours of power.

the support departments for the coming year are as foflows:

The budgeted costs of

Department A Departrnent B
{(Materals-handling) {Power Generation)
Variable indirect labor and
indirect materials costs $ 70,000 % 10,000
Supervision 16,000 10,000
Depreciation 20,600 20,000
$ 100,000 $ 40,000
+Power costs + Materials-handling costs

The budgeted costs of the operating departments for the coming year are $31,500,000 for

department X and $300,000 for department Y. Supervision costs are salary costs.

Depreciation in

depariment B is the straight-line depreciation of power-generation equipment in its 19" year of an

estimated 25-year useful life; it is old, but well-maintained, equipment.

{. What are the allocations of costs of support depaztiments A and B 1o operating depariments ¥ and

Y using (2} the step-down method and (b} the reciprocal method?

2. An outside company has offered 1o supply all the power needed by the Min-Hsiung Company and

to provide all the services of the present power department. The cost of this service will be $40

per kilowatt-hour of power. Should Min-Hsiung Company accept? Explain.
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{7} {12%) The Chiayi Corporation manufactures design feeling desks in its Processing Department.
Direct materials are added at the initiation of the production eycle and must be bundled in single kits
for each umit. Conversion costs are incurred evenly throughout the production cycle. Before
inspection, some units are spoiled due to non-detectible materials defects. Inspection occurs when

units are 50% converted, Spoiled units generally constitute 6% of the good units, Data for December
2011 are as follows: '

WIP, beginning inventory (2011/12/1) 30,000 units
Direct materiats {100% complete)

Conversion costs (75% complete)

Started during December 90,000 units
Completed and transferred out {2011/12/31) | 86,800 units
WIP, ending inventory {2011/12/31) ( 26,000 units

Direct materials (100% complete)

Conversion costs (65% complete)
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Costs for December:
WIP, beginning Inventory (2011/12/1)

Direct materials $ 120,000
Conversion cosis 80,000
Direct materials added 240,000
Conversion cosis added 320,000

[Required} { round to 2 decimal places, if necessary)

1. What is the number of total spoiled units, normal spoilages and abnormal spoilages (hint: ignore
the period when good units pass through the inspection for the computation of spoiled units)? (6
)

2. What is the tota} cost per equivalent unit and using the weighted-average method of process
costing? (3 4}

3. What cost is allocated to abnormal spoilage using the weighted-average process-costing method?
(3) '

(4) (10%) Minhsiung Corporation is organized in three separate divisions (TOP, BEST and FUTURE).
The three divisional managers are evaluated at year-end, and bonuses are awarded based on ROI
(Return on Investment). Last year, the overail company produced a 13% return on its investment.
Managers of Minhstung's FUTURE Division recently studied an investment opportunity that weuld
assist in the division's future growth. Relevant data follow.

FUTURE Division | Investment Opportunity
Income $15,600,000 $ 3.800,000

Invested capital 97,500,000 26,000,000

[Required} ( round to 2 decimal piaces, if necessary)

1. Compute the current ROI of the FUTURE Division and the division's ROI if the investment
opportunity is pursued. What is the iikely reaction of Minhsiung's corporate managerment toward
the investment? Why? (5 43 '

2. Asswume that Minhsiung uses residual income to evaluate performance and desires an 1%

minimum return on invested capital, Compute the current residual income of the FUTURE
Division and the division's residual income if the investment is made. Wiil divisional management
likely change its attitude toward the acquisition? Why? (5 &)



